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ECONOMICS
( Honours Generic/Regular Course )
Paper : ECO-HG/RC-4016 ‘

'( Principles of Macroeconomics—I1 )

Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks
Jor the questions

Answer either in English or in Assamese
1. Answer the following questions : 1x10=10
O PP BT ford

fa) Define LM curve.
LM Q[ 351 foiqn )

(b) What is the condition for equilibrium in
the money market?
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(2) (3)
(c) Define aggreg
gate demand
' ’ 2. Answer the following questions : 2x5=10
AN BIRAR i fa | Tod 2P el o
. \9 :

(d) What is ‘liquidity preference?
R {5 3 7

(a) Explain aggregate supply function.

. TR TR o R, 0 |
(e) Give the meaning of cost-push inflation

- PR wy oy (b) Show the differences between demand-
pull and cost-push inflation.
(7 Why does deflation occur? .
R Ry e 9 i sRm-REee we W-FRERe  rRke
. | e ~NYFPRR (YT |
(9) What is the meaning of forej |
exchange? &n ; (c) How does effective demand determine
it REEE T R 9 ‘ employment?
Hery vz wicEe e fRdieT 332

(h) Define hyperinflation. ‘

TS PR sy '
xR e | | (d) What are the differences between
‘ Current Account and Capital Account?

() Who gave the concept of Phillips curve?

e ot W TR RorE TE NP

Rt aam
W‘H@T A E"W 9 ﬁ‘{l |
() What is rate of
exchange?
R 29 Ro () What are the instruments of foreign
. | exchange?
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(4) (5)
3. Answer any four of the following questions : () What does the short-run Phillips curve
éx 4=20 show?
O AP R P RER s for Z7eeT R @i & orgeam 2
(a) Give the reasons for shift in the
aggregate demand curve. 4. Answer the following questions : 10x4=40
TR R @ TERRe @RR IRPZ o PIIRT Teq o

I
{a) What is effective demand? Explain the

(b) What are the weaknesses of IS-LM importance of effective demand and its

model? ‘ determinants. 2+8=10
IS-LMWQZBRM]«%%, e o 52 e i @F% W [|WR
’ ATz I F41
(e) Discuss the determinants of inflation. Or / &l
TR ez
i 1 AWW! Distinguish between aggregate demand
. e and aggregate supply. Discuss the
_(d) Ex:s,(;uss the working of multiplier in components of aggregate supply. 4+6=10
- brief. -
I TEF o wF TRT QR S Y
BRI IR SR WD 797 | forr 1 ST AT TP e 4 |
(e) th;t are the characteristics of foreign (p) What are the features of IS curve?
exchange market? Discuss, Explain the derivation of IS curve. 4+6=10
GoPe RRm TR e B R IS @R QPR B B2 IS @R e
ST 3R | SR T 30
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(7)
(6) |
Or/ 91
Or / 9y 3
‘ What is Balance of Payments? What are
Explain the IS-LM model with the help | its components? Distinguish between
of diagram. 10 Current Account and Capital Account of 1o
Balance of Payments. draras
IS-LM 1RcH1 foag st amam 47 | o
e el &7 e SR R
R TER SRS o e T RorR
(c) Discuss the various effects of inflation. 10
. o2 fora |
TorR RieH deReR e 1 1
* %k %k
Or / 533y -
Write a note on the long-run Phillips
curve. 10
A R o R bt coren e |
(d) How does IS-LM curve explain the
relation between rate of interest and
income level? Discuss. 10
IS-LM @313 & T TR [ WF GRY T
o 0 IRz ? AT 4 |
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